O 2o v+ oy 2 =717

@® 50° @ 130° ® 140° @ 160° ® 180°



=

ol

9l

s

ol

zl

15

O

rlo

A2?

D E89] Ho|7} A= Zt}.
@ Wezte] A7|71 A= 2k

® mors 277 A2 2o}
@ Yo7t e T AL g
© Hevhas T Es

oltt.
=

*E

[



ol
T
N

o
mmo
N

ol 11 7491 o

EE
2 AR

@ 73
7h
® 75 7} @
77 7N
® 79
7H

@® 71 7N



HFAE9] 2017} 120m Q) 9] o]} Bl

@ 575mcm? |, 23027wcm? @ 575mcm? |, 23047cm?
® 575rcm? |, 23037cm? @ 576mcm? , 23037cm?

® 576mcm? , 23047rcm?



AL m, n ol g D™ 22 1 g T &4

o~

(b °] A7) 125° o]t

a O] BEAZFE] 271 80° o]t
ta 9] F917e] 271 55° ot
b 9] F912F] A7]= 125° ot

za &) S174e] A7)+ 55° ot

®© ® ©@ ©® ©

52

rlo

Y

rlo



ThS 1= A 1)/ m O], LAPB = %AAPC ol o, JAPB 9] 27]=7

405\A I

@® 50° @ 60° ® 70° @ 80° ® 90°



7.

o2 T4 AABC = ADEF 9 o, o3 H7] & &2 S 25
1=2mH?
A D
B C F E
[l
H7]

@ AB =DE, AC =EF, BC = DF
© /A =/D, /B=/F, AB=DF
® /B=/F, :C=/E, BC=FE
® AB=DE, /A =/D, /B=/E
® AC=FE, /A=/E, /C=/(F

® <A =/D, /B=/E, /C=/F

© 906, @ 0,66 ® 6
@ ©,6 ® 66



® DC = BE
® /DAC = /BAE

® aADC = AABE

@ AB=AC



9.

o2 184 AABC = 2242 —

A+7+8 ACED, BC 2

@ AACH

@ ABCD

¢} 2+ BFGC & W= [[H,

2(4A = 90°)

D
A
E

B C
F -G
@ AACG ® ABAE

® ABGC



10. o= ™A 2x & 2717

@® 75° @ 80° ® 85° @ 90° ® 95°



11, ohg 8% 2o] @ Wel Aok 0w 91 BAZR el ol BA)
20) 3 ¥10] Fol& AT ke WL 1 ul, AT R
ol |

T~--10--"

® 20cm? @ 25cm? ® 50cm?

@ 207 cm? ® 507 cm?



12, o= J"-eA 2y o 2717

22—30°

3 z+20°
3x+10

@® 90° @ 100° ® 110° @ 120° ® 130°



o]

*5

o4

o2

o3

14
@ 12 @ 13 ®
@ 11

® 10



14. o= I2™o o dit A o= £ 227

B C

@O AC Ht} Zo|7} 71 @o] £A51A] &=

rp

@ AB £ do]1, 5.0ptAB = so|t},
® /BOC & 5.0ptBC o] th& F41ztolet.

@ AB ¢ F HHAE OB, OA 2 E249] =32 &

i
S
&

® 5.0ptBC ¢ = ¥4 2 OB, OC & Se4el 5o

23}zl c}



15.

® 1llcm?

@ 117cm?

@ 113cm?

® 119cm?

@ 115cm?



16. t& 2do] =M A4 1 & Fo= 5t 1 9]
A o) A7)= QA Ed o] Bul=9

@ 147 cm? @ 2lrcm? ® 287cm?
6
@ ?37r cm? ® 63rcm?

-3cm.




'7/q B
@

® ®—-0-6-0-6—-6 © 6-0-0—-—-e—6
® e—-0-e~b-e—-0 @® @—-0-0—-0—-e—0
® @-0-6-6—-0—e



18. o 274 AABC 7} otHE 2R == A

® BC=5,CA=7,/0=60°
@ AB=7,BC=6,CA=13
® AB=7,BC=4, /A =50°
@ BC=17,/B=110°, /C=170°

® (A =40°, /B=55°, /C=85°

tlo



19.

)

= ™2 ot =AE| o] dol7t 3 Q1 Ao Al |el S Al

o] Zolzk 1 9 AAZHY mope] 2L uh W w7k Fol
S

1
Zoltt, o] YA E PG 2] BHol=?

Olli-l" r_?l"

47

@ 70 @ 72 @ 74 @ 76 G 78



@ 727 cm?
@ 1167 cm?

3 1327 cm?

2cm




